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When a body is connected to the earth, then
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electrons from the earth, flow into the body. It
means that the body is :

(1) uncharged

(2) an insulator

(3) positively charged

(4) negatively charged

Three infinitely charged sheets are kept parallel
to x-y plane having charge densities as shown in
figure. Then the value of electric field at 'P' is :

4
A
Z=3a c
Z=2a -2
Z=0 -
26 26
2Pk —k
% @
40 » 46 »
-—k —k
Cln 4 o

A point charge of 0.009 puC is placed at origin.
Intensity of electric field due to this point charge

at point (\/5, J7 ,O) will be.
(1) (V2i +V7)NCT" (2) (3421 -3T7])NCT!
(3) (3v2i+3V7j)NCT  (4) (32j+3V7i)NC!

Class : XlI
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PHYSICS (Q.1 TO Q.25)

G U aeq YR d ol Sl 2, 79 gorag = gedl | a%g ol
SR yaTfed 81l € | 3e! aredd & fob avg &
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(1) 3mafdrd

(2) Tep 3f=TTD

(3) gD 3Mafdra

OERIREEICING]

T BMHR B I ARG WRl x-y Tl b FAR ] &,
frTant amerer aca fory A gwifan ran 8, A fag PR Sga e arm
BT A BT —

4
A
Z=3a c
Z=2a -2
Z=0 -
26 26 »~
2k —k
W%, @
4 -~ 46 »
-—k —k
6%, 4 o

T 0.009 pC a5 ST 1 Het favg IR 1 AT} | S99 BROT
g (v2,/7,0) T argge &1 o chrret et o1 €T —

(1) (V21 +J7j)NC™!
3) (3«/§f+3\/7})NC‘1

(2) (3v2i - 347j)NC!
4) (3\/53 + 3«/7{) NC™
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4. Two identical beads each of mass m, when placed | 4. ¥RI® SIHN m @I &1 THTAA AIfTA] B TVIRTRT HATAD

in a hemispherical bowl of radius R with frictionless SRI b T R & 3G —TNATDR RTell § & IR ATl Tfel

non-conducting walls, the beads move and at R T AT AR IR J ¥ R R Rerd 2 dt 9% Archl o)

equilibrium they are at a distance R apart. Find SICNESHIE

charge on each bead.

mg «/gmg
R |— yzos

(1) (1) \/ J3K (2) Ry—¢

3R% 4R3mg 3R% 4R3mg

(3) Ry ) Ry 3) Ry 55 4 Ry
5. A, B & C are three points in a uniform electric | 5. A, BT C U Wy faea & 9 < fa=g € | faega fawa -

field. The electric potential is -

e e
°A — *A —
L T, F L T, F
oC oC

(1) maximum at C (1) C WR SAfirepe BT

(2) same at all the three points A, B and C (2) A, B T2 C 941 fa=gaii or 9914 8T

(3) maximum at A (3) A JNfIHaA B

(4) maximum at B (4) B 1f@aH 8’

¥% @13 @ fory 5r71g / Space For Rough Work
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If a uniformly charged spherical shell of radius
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10 cm has a potential V at a point distant 5 cm
from its centre, then the potential at a point distant
15 cm from the centre will be :

\Y% 2V
13 @ 5
(3) gV (4) 3V

The equivalent capacitance across AB in the

adjoining circuit is :

0 g0 ¢ a0 a0
) 1l s T 1 A
==2C ==C =c =c ==C
e B
(1) C/2 (2) 5C/6
(3)3C/2 4) C

A semicircular ring of radius R is given a uniform
charge Q. Then the electric potential at its centre
will be :

Q
¥ tt+y

+ ) o
o¥
(1) % s R () 4z & R
(3) one, R (4) Zero
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v 2v
(1) 3 (2) 3
(&-%V (4) 3V
Herr uRue # AB & di Jou enRar a—

2¢ 2¢ 2¢ 2¢ 2c

I
-=2C —_—C —_—C -_C _—C

B

(1) C/2 (2) 5C/6
(3) 3C/2 4)C

R %01 &) STE IR a1 Bl ThaaT a9 Q fean w2 |
T D W fAgd fawa grm —

(1) ne, R

(3) 27 s R
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9. A parallel plate condenser of capacity C is | 9. CdfRd Eﬁw-_cl?tlﬁffﬁ‘a A BT I SIS ST 8 iR V
connected to a battery and is charged to potential fava d® SMaf¥a &vd T | Ua 31 2C g1iRal & |emiRa &I
V. Another condenser of capacity 2C is connected JSA A TSHR 2V fa9d T AT BRA & | ST SeRai o
to another battery and is charged to potential 2V. BT & 3R FUTRAT B FaTOR B | 59 UK Siied 8 fb Udh
The charging batteries are removed and now the TP I TAR DI UMD i W I oY | e a1 aff<
condensers are connected in parallel in such a ol § —
way that the positive plate of one is connected to
negative plate of another. The final energy of this
system is—
25CV2 25CV?2
(1) zero (2) (1) 7= (2)
6 6
5 3Cv? A ocv? 5 3Cv? A ocv?
®) =, @ =, @) =, @ =,
10. Some equipotential surfaces are shown in figure, = 10. F=IfREFH Ho TR TG TR Rt IR PR Agdaa @
the magnitude of electric field at point P is : gRATUTE —
y(cm) y(cm)
10V 20V 30V 40V 10V 20V 30V 40V
P P
30° 30°
0 0 %0 50 40 nem 0 10 _~50 30 a0 ™
(1) 200 V/m (2) 200 V/cm (1) 200 V/m (2) 200 V/cm
(3) 400 V/cm (4) 400 V/m (3) 400 V/cm (4) 400 V/m
Y &I P fory T8/ Space For Rough Work
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11. The resistances in the following figure are in ohm. | 11. f=faRaa i ufRIgQHT| fdg AduB @ T H JATd

Then the effective resistance between the points gfeRTe S HRI—
Aand Bis:
3Q 3Q
34 30 34 30
3Q 3Q 3Q 3Q
A 30 A 30
(1) 3@ (2) 2Q (1) 3Q (2) 2Q
(3) 6Q (4) 36Q (3) 6Q (4) 36Q
12. Find the equivalent resistance across AB: 12. AB oy g ufeRie =i aifor—
A A
202 220 | 202 22Q |
< < §E QQ < < %E QQ
203 320 203 320
B B
(1) 1 (2) 2Q (1) 1 (2) 2Q
(3) 3Q 4) 4Q (3) 3a 4) 4Q

Y% @1 P fory T8/ Space For Rough Work
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13. A battery of internal resistor 'r' and e.m.f. ¢ is
connected to a variable external resistance AB. If
the contact C is moved from A to B, then terminal

[ Class : Xl

potential difference of battery will :

€

Al

(1) remain constant & is independent of value of

external resistance

Al
B

(2) increase continuously (2) SIITCIR 9T |
(3) decrease continuously (3) TTAR T |

(4) first increase and then will decrease.

2412

] Paper Code

13. 'r' AR ufeRIg g ¢ 3. a1 91 &1 U 9 Top IRt 9T
IR AB & RRIIR G€1 &, I 9@ C, A 4 B &1 3R I Y
T B R & 7oy AR g :

C
B

(1) Frad e & d I 9kRIg & A A WA A ¢ |

(4) Ut G R g |

14. The equivalent resistance between points A and | 14. fd=53ii A 211 B & #ey Jo UfcRIg 81 —

B will be -

£ 29

B

VVVVy

s
380

\AAAZ

2003

(1) 32.5 Q
(3)2.5Q

150 \«A 20 15Q
vy "VAV B 'A'AVAVAV A"'AVAVAV
1003 $80 100%
/T
1003 2003 100%
400 300 400
(2) 22.5 O (1) 32.5 Q (2) 22.5 O
(4)42.5 Q (3)2.5Q (4)42.5 Q

ANE_Co
W O

2
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As the switch 'S' is closed in the circuit shown in
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figure, current passed through it is :

(1) 4.5A
(3)3.0A
Two wires of resistance R; and R, have

(2)6.0A
(4) zero

temperature coefficient of resistance a; and a,,
respectively. These are joined in series. The
effective temperature coefficient of resistance is:

o red @) o,
(@R, +a;R,) gy YRR,
B TR TR, 4" R+r

The value of angle of dip is zero at the earth's
magnetic equator because on it —

(1) By & By are equal

(2) the value of By, & By are zero

(3) the value of By, is zero

(4) the value of By is zero

When a charged particle enters in uniform
magnetic field its kinetic energy:

(1) Decreases

(2) Increases

(3) Remains constant

(4) Becomes zero

Class : XlI
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e Raw 'S’ &1 uRuer # 98 o) faan Sire a1 Raa 9 garfzd
IEEREINERIES
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(1) 4.5A (2)6.0 A

(3)3.0A (4) I

R, T R, & &1 TRI & URIRIEN & Q19 0T S o, T o1,y B |
52 Srofiess 9 Sirer 7 & | UfoRIe 1 wrd) ATy a[oTih T

) Lt @) Yo
(3) Rl + IQ2 (4) }Rf +R§

gl ) FIB I FoIReT UR ARIBIOT T 71 I BT B, Riifeh —

(1) B, @1 B, S92

(2) B, @211 B, ST9M A

(3) By 1AM

(4) By FTAF YT

ST U AR BVT Th TG FrIah i 8 H TS 2t &, siab!
I St

(1) geiie

(2) Mg |

(3) Fraa<ed g |

@) TN |

Y% @1 P fory T8/ Space For Rough Work
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A long wire is bent into the shape PQRST as shown

in figure with QRS being a semicircle with centre
O and radius r. A current I flows through it in the

Class : Xl

19.

2412

U oI TR 1 fFIFTgAR PQRST ST # Are1 1 2, foreH
QRS U& r 3591 31 G IR 9T 2, a1 ovs O T | 394
[9RTP > Q > R —> S » T Ren A yarfed grch & | 79 fata

] Paper Code

direction P - Q - R — S —» T. Then, the magnetic # f2ra1 4 fad faeg O IR =TI URVT BN :
induction at point O of the figure in vacuum is :
p I Q p I Q
O.%R O.%R
T T S T I S
(T (L (T (L
(1) Ho 2nr  4r (2) Ho 2nr  4r (1) Ho 2nr  4r (2) Ho 2nr  4r
Hol Hol Hol Hol
) 4r ) nr ) 4r ) nr

20. A, B and C are parallel conducting wire of equal
length and carrying current I, I and 21 respectively.
Distance between A and B is x, distance between
B and C is also x. F, is the force exerted by B on A
and F, is the force exerted by C on A. Choose the

correct answer.

20.

A, B 1 C 91 o618 & T FHT=R GRTITE] et aiR & |
TATSTH A 1, 1 72 21 §RT YT BTRE & | A T B & 7
RWxEBANCHARIP N x| B ERTA WRIIRINT gt
F, 2| C gRIA WRIRIMNT I F, 2 | T F IR EFT—

A B C A B C

I I 2 I I 2

X X
(1) F, = 2F, (2) F, = 2F, (1) F, = 2F, (2) F, = 2F,
(38)F,=F, (4) F, =-F, (38)F,=F, (4) F, =-F,

¥% @13 @ fory 5r71g / Space For Rough Work
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21. A coil in the shape of an equilateral triangle of

22.

23.

side ¢ is suspended between the pole pieces of a
permanent magnet such that B is in plane of the
coil. Due to a current 'i' in the triangular coil a
torque 't' acts on it, then the side ¢ of the triangle

2( 1
@ %)

1
(4) \/g Bi

is :

1

o e

1
T 5
© 2(\/5 BiJ

For a glass prism (u = \/5) the angle of minimum

deviation is equal to the angle of the prism. The
angle of the prism is -

(1) 80° (2) 45°

(3) 60° (4) 90°

In the diagram a prism of angle 30° is used. A ray
PQ is incident as shown. An emergent ray RS
emerges perpendicular to the second face, then
the angle of devation will be :

(1) 0°
(3) 30°

(2) 60°
(4) 45°

Class : XlI
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1

W e

2( 1
@ 2 )

1
(4) \/g Bi

1
© 2(\/§TB1J2
B (1 = /2) T YD A BT GAeH famrer pior i drop

P IRTER B, A SHPT ST BIoT BRI —
(1) 80° (2) 45°
(3) 60° (4) 90°

R & 30° 107 arel1 Oroq U A forar 11 @ | Ue fohvor PQ
AR smafed gl ¢ | Frid fhvor RS ¥R U6 9 o aaq]

frta g 8, 1 fare= dror g
S
Q
309/
P~ B C
(1) 0° (2) 60°
(3) 30° (4) 45°

Y% @1 P fory T8/ Space For Rough Work
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A ray of light passes through four transparent
media with refractive indices u;, p,, u; and p, as
shown in the figure. The surface of all media are
parallel. If the emergent ray CD is parallel to the
incident ray AB, we must have :

D

M. Hq

Hy
B
/
A

(2) Uy = H3
) vy =1

(1) Uy = Uy
(3) Hg =1y

Curve for formation of a virtual, erect image in a | 25.

convex mirror is represented by :
(where u, v and f are the parameters that have

usual meaning in mirror theory)

v/f
- -1

(1) uif

4

Class : Xl
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24. TIPTRI I T fHROT ), Ly, 1y T 1, ST ATl <R AT A

AR o € | FRT A1 o) Fag w9 ¢ | 9 et
fapxor CD 31ufrd fhor AB & HAROR 8 @ :

M Hq

Hy
B
/
A

(1) Uy = Uy (2) By = 1y

(3) Mz =1y (4) vy =1y

Il SUOTH T, i wfafawg femtor o fore foeet & s
Tgh UG BT —

(ST&f u, v TeI f =RI &1 gUvT RIg T & SR AT 312 ©)

v/f

(1) — @

4

TNE O
59 o)

S

SIKAR
N
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CHEMISTRY (Q.26 TO Q.50)

The vapour pressure of two liquids P and Q are 80

Tecno’'24
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and 60 torr respectively. The total vapour pressure
of solution obtained by mixing 3 moles of
P and 2 moles of Q would be —

(1) 68 torr (2) 20 torr

(3) 140 torr (4) 72 torr

Elevation in boiling point was O. 104°C when
12 gm of a compound X was dissolved in 100 gm of
water. Molecular weight of X is (K, = 0.52)

(1) 120 (2) 240

(3) 600 (4) None of these
Dissolving 120 gm of urea (mol. wt. 60) in 1000 gm
of water gave a solution of density 1.15 gm/mL.
The molarity of the solution is —

(1) 1.78 M (2) 2.00 M

(3) 2.05M (4)2.22 M

Relative decrease in vapour pressure of an aqueous
solution containing 2 moles [Cu(NH;);CI|Cl in
3 moles H,O is % . When the given solution reacts

with excess of AgNO; solution, the number of moles

of AgCl produced is :
(1) 0.2 mol (2) 0.25 mol
(3) 0.4 mol (4) 1.0 mol

Class : XlI
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&l gdi P Al Q & arwaTd sl 80 U160 torr € | 57d 3 Hiel
P T 2 Al Q g1 AT el IR fIers &1 e arweTd T
R —
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(1) 68 TR (2) 20 R

(3) 140 R (4) 72 R

TP fag H I8 0.104°C 2, 519 12 gm X i o
100 gm STc # BT ST & | X &1 AVHR & —

(K, = 0.52)
(1) 120 (2) 240
(3) 600 (4) TTH A DI TN

120 gm IRAT (IPIR 60) 1000 gm Sl H dld W
1.15 gm/mL. 89cd 1 Ueh faeram SA1a & | fera o) e
3

(1) 1.78 M (2) 2.00 M

(3) 2.05 M (4)2.22 M

3 #Id H,0 3 2 #idd [Cu(NH,);ClCl & Felid faeraa

P I <79 § ATUfRID TaTHT % 2 | 919 gg faora= snfarey
AgNO, & A1 AT HRa 8 1 AgCl & SeUTfd Al & -

(1) 0.2 #Hrdt
(3) 0.4 i

(2) 0.25 91
(4) 1.0 A

Y% @1 P fory T8/ Space For Rough Work
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30. The major product of the following reaction is -

CH,
H3C—|C—CH—CH3 _ CHOH
.
CH, CH,

I |
(1) H,c—C—CH=CH, (2)H,C—C=CH-CH,

Class : Xl
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30. AE FfAfFI BT IUR S :

CH,
H3C—|C—CH—CH3 _ CHOH
.
CH, CH,

I |
(1) H,c—C—CH=CH, (2)H,C—C=CH-CH,

H H
CH, CH, CH, CH,
I I I
H,C—C—CH,—CH, H,C—C—CH—CH H,C—C—CH,—CH, H,C—C—CH—CH
(3) 3 | 2 (4) 3 | | 3 (3) 3 | 2 (4) 3 | | 3
OCH, H OCH, OCH, H OCH,
31. The major product of the following reaction is - 31. QE arfafera EﬁTﬂE«’IB—cCI'IE% :
Br Br
)\j\ alc KOH (excess) alc KOH (3rfda)
A A
Ph Br Ph Br
1 /\/\) 1 /\/\)
( ) Ph N AN ( ) Ph N AN
S A
(2) (2)
Ph”" N\ Ph”"
N N
@) )\5 @)
Ph A Ph A
@) AN @) AN
¥% @13 @ fory 5r71g / Space For Rough Work
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35.

36.
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Which one of the following is not an allylic halide
?
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(1) 4-Bromopent -2-ene

(2) 3-Bromo-2-Methylbut-1-ene

(3) 1-Bromobut-2-ene

(4) 4-Bromobut-1-ene

Which reagent are required for one step conversion
of chlorobenzene to toluene ?

(1) CH;Cl1/AICl,

(2) CH4Cl, Na/dry ether

(3) CH;Cl1/Fe Dark

(4) NaNO,/HC1/0-5°C

On electrolysis of a dilute solution of H,SO,
between Pt electrods, the gas evolved at the anode
and cathode are respectively.

(1) SO,, O, (2) SO4, H,

(3) 0,, H, (4) H,, O,

The E&3+ vz values for Cr, Mn, Fe and Co are
-0.41, +1.57, +0.77 and +1.97 V respectively. For
which one of following metal the change in
oxidation state from +2 to +3 is easiest.

(1) Co (2) Mn

(3) Fe (4) Cr

The reduction potential of hydrogen half cell will
be negative if [T = 298 K] :

(1) Pu=1latmand [H']=1.0M

(2) Py, =2 atmand [H']=2.0M

(3) Py, =2 atmand [H']= 1.0 M

4) Py, =latmand [H']=2.0M

Class : XlI

32.

33.

34.

35.

36.

2412
o 1 5 1 DI U UeTg il 2elss ol 8 ?

] Paper Code l

(1) 4-sFe-2-34

(2) 3-sTH1-2-Afretee-1-89

(3) 1-SMIge-2-84

(4) 4-sFTege-1-849

FARTTO DI STt H U TRV H d&ei & forq fovd s1firadan
DI IMATIHATEN & P

(1) CH,CI/AICL,

(2) CH,Cl, Na /b $2RR

(3) CH,C1/Fe 3feRT

(4) NaNO,/HC1/0-5°C

Pt Soidelel & 7edl H,SO,, & 0] faera &1 fagd srqge ove
R, UGS AT DTS IR Jadl i dTetl T4 ATl © :

(1) SO,, O, (2) SO,, H,

(3) Oy, H, (4) Hy, O,

Cr, Mn, Fe @1 Co & Epp. e @ A H930: -0.41,
+1.57, +0.77 001 +1.97 V & | 71 H 3 foby e ob aiferren=on

JTRRAT R F +2 I +3 BT WIRN —
(1) Co (2) Mn
(3) Fe (4) Cr

TISFIVA AE A &1 9T fIHa FomTcHS &I I
[T =298 K] —

(1) Py =latmda[H]=1.0M

(2) Py, =2atm @ [H]=2.0M

(3) Py, =2 atmdern [H']=1.0M

(4) Py, =latmdm[H']=2.0 M

Y% &1 & forg 5178/ Space For Rough Work
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A very thin Cu-plate is electroplated with gold
chloride in HCl. The current was passed for 20
minutes and the increase in the weight of the
plate was found to be 2 gram [Au =197]. The current
passed is:
(1) 0.816 ampere (2) 1.632 ampere
(3) 2.448 ampere (4) 3.264 ampere
(i)MnOj +8H* + 56" —>Mn?* + 4H,0 E°=X, Volt
(ii) MnO, +4H" +2e” ——Mn?* +2H,0 E°= X, Volt
Find E° for the following reaction.
MnO; +4H" + 3e™ —» MnO, + 2H,0

(1) X,= X4 (2) X, =X,
5X; —2X, 2X; -5X%,

3 3

In the isoelectronic series of metal carbonyl, the

(3) (4)

CO bond strength is expected to increase in the
order:

(1) [Mn(CO)g]*< [Cr(CO)g] < [V(CO)g]

(2) [V(CO)g] < [CX(CO)g] < [Mn(CO)g]"

(3) [V(CO)g]" < [Mn(CO)g]" < [Cr(CO)g]

(4) [Cr(CO)4] < [Mn(CO)g]" < [V(CO)6l

Class : Xl

Paper Code
2412

37. HCIH, 7IeE FARTSS 1 I <Iu, HIUR 1 Tob Jfdep ucrel!

e TR fhaT 1 | 39 SR 20 e do 9T vdifed 8 IR ©ie
B AR 2g [Au =197| & Ifg a7 | yarfRa eI g !

(1) 0.816 TfFgIR (2) 1.632 TR
(3) 2.448 TfrggR (4) 3.264 TR
(i)MnOj + 8H* + 5¢” ——Mn?" + 4H,0 E°= X, Volt
(ii) MnO, +4H" +2e” ——Mn?* +2H,0 E°= X, Volt
o=t arfafehan & forw E© &1 A1 s g —

MnO; +4H" + 3e” - MnO, + 2H,0
(1) X,- X, (2) X, - X,

5X; -2X 2X; - 5X

S W=
&7 PTEIS B TS etag -1 S7ofl § CO a1 Al ford e
dgare:

(1) [Mn(CO)g]"< [Cr(CO)g] < [V(CO)6
(2) [V(CO)g] < [Cr(CO)g] < [Mn(CO)g]"
(3) [V(CO)g]" < [Mn(CO)g]" < [Cr(CO)g]
(4) [CT(CO)g] < [Mn(CO)g]" < [V(CO)g]

Y% &1 B fory 57T/ Space For Rough Work
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40. The phenomenon of optical activity will be shown | 40. TR ARG @I fdad gRI GRS :

41.

by:
A A
B B
. M ) M \en
m . (2) J
A B
_en
A
' M
@) en |\|/| en @)
A B
en—

The geometry of some complex ions are given | 41.
against them :

(A) [Ag(NHs)zr

(B) [MnClL,]*"

(C) [Cu(NH,),**

(D) [Ni(CN),J*"

The correct match is :
(1) Aand D
(2)A,Band C
(3)A,Cand D
(4)A,B,Cand D

— Linear

— Tetrahedral

— Square planar
— Square planar

A
B B

. M ) M \en
( )B 5 (2) /

A B

/en

A

|
@ LML @ i

A B

en—

TO el Bl AT IS AR A T B :
(A) [Ag(NH,),]" - g
(B) [MnCl,]* — IIHADIY
(C) [Cu(NH,),]* — o Feae
(D) [Ni(CN),]* — ool e
SEICKIBEE
(1) AT D
(2)A,BTa1C
(3)A, CTAID

(4) A, B, CT D
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Which of the following isomers of [M(NH,),Cl,]
would react with silver axalate (Ag,C,0,) ?
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42.

1) i N

(3) Both (1) and (2) (4) None of these
Which of the following statement is/are incorrect
(1) [Ni(CO),] Tetrahedral, Paramagnetic

(2) [Ni(CN),]"2 Square planer, Diamagnetic

43.

(3) [Ni(dmg),] Square planer, Diamagnetic
(4) [NiCl,]? Tetrahedral, Paramagnetic
Sy1 reactivity of following molecule is :
(A) CH;—CH,~CH,-CH,—Br

(B) (CH,;),CH-CH,(Br)

(C) CH;~CH,~CH(Br)-CH,

(D) (CH,),C-Br

(1) D>C>A>B

2)D>C>A=B

3)D>C>B=>A

4C>D>B=>A

44,

Class : Xl

2412

[M(NH,),Cl,] &1 ®=41 FHragd e sffaorere (Ag,C,0,)
H srfafehar e ?

] Paper Code

NH3 ............ Cl NH3 ............ Cl

PN 7 PN 7
() i~ N @ i N

HsN ............ Cl Cl ............ NH3
(3) (1) @ (2) < (4) TR A PIE T
frfaRaa § 9 Pl AT AT L

(1) [Ni(CO),] TTPADT, FTLHDIA

(2) [Ni(CN),]? #¥aa aTieR, Ui
(3) [Ni(dmg),] | TR, UfrgD
(4) [NiCL]? =quheiId, TgraHIa
feforfad sropaii @1 Sy 1 framefierar 8
(A) CH;~CH,~CH,~CH,-Br

(B) (CH,),CH-CH,(Br)

(C) CH,;~CH,~CH(Br)-CH,

(D) (CH,);C-Br

(1) D>C>A>B

2)D>C>A=B

3)D>C>B>A

4 C>D>B>A

Y &I P fory T8/ Space For Rough Work
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45. The Mechanism of Sy' reaction is gives as :
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©
R-X—> RPXZ—RY/X—L—> Ry + x°
ion pair  solvent
seprated ion
pair

A student writes general characterstics based on

the given mechanism as :

(A) The reaction is favoured by weak nucleophiles

(B) R® would be easily formed if the substituents
are bulky

(C) The reaction is accompanied by racemisation

(D) The raction is fovoured by non-polar solvents

Which observation are correct ?

(1) (A) & (B) (2) (A) & (C)
(3) (A), (B) & (C) (4) (B) & (D)
46. Match the following :
Column-I

A. Working concentraction cell

B. Spontaneous cell reaction

C. Working fuel cell
Column-II

P. EQy =0
Q‘ Ecell >0

R Hy+ %OQ — H,0 + Electrical Energy

(1) A-P,Q; B-Q; C-R
(3) A-Q; B-P; C-R

(2) A-P; B-Q; C-R
(4) A-P, Q; B-R; C-Q

Class : XlI

Paper Code
2412

45. Sy aiftifrar @ frafaf QR -

S}
R-X—> RXZ—>RYX—L > Ry + x°
T faemares
gId 31 ™

T faenefi =1 <1 718 fhanfafdl & neR W A e forg —

(A) It TG 1fafipan & forg argaet S 2 |
(B) afe uforemdl ¢ 81 a1 R® &1 fafor s S 81 S 2|

(C) srfafran IRHIERT & A1 gol 81 B |
(D) 31efdry fetrares sifafeban o forg srgaret e 2 |

PITAT/H VeT0T FET 8/ ?
(1) (A) T (B) (2) (A) T (C)
(3) (A), (B) T2 (C) (4) (B) T2 (D)

46, @R DI |

-1
A. T A Ha
B. Haq - i
C. DI a9 A
-1
P. B3, =0
Q Ex;>0

R H, +%O2 — H,0 + fagga St

(1) A-P,Q; B-Q; C-R
(3) A-Q; B-P; C-R

(2) A-P; B-Q; C-R
(4) A-P, Q; B-R; C-Q

Y% @1 P fory T8/ Space For Rough Work
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Which of the following is an incorrect statement? | 47. 7 HJ BT M HA T ?

(1) The lowest oxide of a transition metal is acidic
whereas the highest one is usually basic

(2) Transition metal usually exhibits higher
oxidation states in fluorides and oxides

(3) Transition metal halides become more covalent
with the increasing oxidation state of the transition
metal & are more susceptible to hydrolysis

(4) The highest oxide of a transition metal is acidic
whereas the lowest one is usually basic

EO0 values for the couples Cr3*/Cr2* and Mn3*/Mn?2*

are —-0.41 and +1.51 volts respectively. These

values suggest that

(1) Cr?* acts as a reducing agent whereas Mn3*
acts as an oxidizing agent

(2) Cr2* is more stable than Cr3* state

(3) Mn3* is more stable than Mn?2*

(4) Cr?* acts as an oxidizing agent whereas Mn3*
acts as a reducing agent

Which of the following statements is false ?

(1) With fluorine vanadium can form VFg

(2) With chlorine vanadium can form VClg

(3) Vanadium exhibits highest oxidation state in
oxohalides VOCl,, VOBr; and fluroide VF,

(4) With iodine vanadium cannot form VI due to
oxidation power of V°* and reducing nature of I

Which of the following pairs is expected to exhibit

the same colour

(1) 55Ce3*, 5,Ho>*

(3) g, Pm3*, (oTm3*

(2) oNd3*, g Ers*
(4) g2Sm3*, , Yb3*

48.

49.

50.

(1) ST &Tq &1 FI=TeR SifeRITE S 3Rl BIdl © Sidfd SoaaH
M TRIT B 2 |

(2) HepHY] U1 FIBNIRTS S| AT ATTATS S| 4 AT S
SffeRATa 0T Jraven U RIg Bl B |

(3) THHY YIFTS TelTSE, HEhHUT T B! JATAATHR0T Ta<er |
i & 121 31 FEHATST 1 STl & Tl STed ST o forg
31D FEH BT E |

(4) BT T BT SeacH SHTRISS ST BI & ofafh e
AT TRITEIATE |

FHEI Cr3*/Cr2* a1 Mn3*/Mn2* & folg EO & A9 H:

—0.41 qAT+1.51 dlee & | I A Fad ol © for—

(1) Cr2* U& 92T d A1 Mn3* U ITRIGRS & WU H BRI
FAT |

(2) Cr2*, Cr3+ 1 et 4 31fde Wil ¢ |

(3) Mn3* , Mn2* &1 =T H 31fd <Al 2 |

(4) Cr2* Ua 3ifaiIBRS & T Mn3* U STUaTddh & S H ¢ |

BEEREIE IR OF

(1) TARI & 1, IFETH VF, 1 T 2 |

(2) FAR & 12, IIETH VCl, I FaT € |

(3) aIfETH sifadigengsi VOCL,, VOBr,  d2Il ilR1gS
VF # Ioae i el afavel] TefRia dvar g |

(4) TS B 1T ITSTH SiTRITHROT &1 V5 Tl [~ bl
AT Tgfex & DRI VI el G HepeTl |

T 4 A DI T UHTH I USRI HR ) Vel 5—

(1) 55Ce3*, ¢;Ho%*
(3) 6,Pm3*, (o Tm3*

(2) oNd3*, g Ers*
(4) g2Sm3*, , Yb3*
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52.

53.

54.

55.

7. |cLC
% Tecno’'24 Class : Xl
BIOLOGY (Q.51 TO Q.75)
How many statements are correct : 51.

(A) Flowers are covered by butter paper after
emasculation.

(B) Emasculation require in papaya plant.

(C) Maize plant prevent autogamy but can not
prevent geitonogamy.

(D) If flowers are open then autogamy is rare.

(E) Maturation of sex organ as same time require
for self pollination.

Choose right option :

(1) 3 (2) 4

(3) 2 (4)5

Syncarpous ovary found in following plant : 52.
(1)Papaver sominiferum (2) Michelia

(3) Lotus (4) Calotropis

Consider the following characters of some flower: | 53.

I. Light and non-sticky pollen grains.

II. Exerted stigma and anthers.

ITI. Large often feathery stigma.

IV. Flower colourless, odourless and nectarless.
Above features are the characters of following :

(1) Anemophily (2) Hydrophily

(3) Entemophily (4) Zoophily

Tassel like stigma found in : 54.
(1) Pea (2) Corn cob

(3) Datura (4) Cassia

How many characters and true breeding pea plant | 55.

varieties respectively were selected by Mendel :
(1) 7, 14 (2) 14,7
3) 2,7 47,21

2412
BIOLOGY (Q.51 TO Q.75)

fobem P AL B
(A) fagEIHRYT & 18 gl DI 2% YR R13MMaR fhar S e |

l Paper Code

(B) T @ e H fAYRAH=01 1 STaeg e eI ¥ |

(C) FaDPT BT UIET IIGTHT Dl & <AfebeT FoTTTgeH] TRTITO] Bl
TEI Reh Fhe & |

(D) af& I Gefcl & 9 WA dHI—PIR BT 6 |

(E) TIORTT1 & fo1g U €1 90 IR Uoi=i 317 &1 GRYad g1
3MMaTID T |

F3 fAdea g :

(1) 3 (2) 4

(3) 2 @S

1 urey ¥ garToed! STy Ul Sl &
(1) Y9raY @IafTHed (2) ==
(3) dHA (4) 3ifd
6B Yi & 1 Aevll R famR 1 -

I & aor ifaufer tRET &0 |

I1. i e YHaR ol aTex &l SR B |
II1. 9 U1 U o afciepry |

V. g8 ST, TS 01 A Ifed |

SURTT ATV 7 B AT E -

(1) IR RETT (2) ST URTTOT
(3) I IRFTO (4) ST URTITOT
HE AT afciTy fraH a9 © :

(1) #ex (2) ¥ P14
(3) &gt (4) bfrm

HUG S = HAL: e Aol g TGwY UoT++ Hex UIe B farei !
Zpfere feba o :
(1) 7, 14

3) 2,7

(2) 14,7
4) 7,21

Y% &1 & forg 5178/ Space For Rough Work
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56. Match the column-I and column-II and select the | 56.
correct among given options :
Column-I Column-II
A. Aa x aa (i) 3:1
B. AaBb x AaBb (ii) 1:1
C. Aa x Aa (iii)9:3:3:1
D. AaBb x aabb (iv)l1:1:1:1

(1) A-ii, Biii, C~i, D-iv (2) A-iv, Biii, C~i, D-ii
(3) A-iii, B-ii, C-i, D-iv (4) Aii, B-iii, C—iv, D

S7. Select the correctly matched option with respect | 57.
to Drosophila :
Column-I Column-II
(Phenotype) (Chromosome)

(1) Q Drosophila with —> o
Yellow body and o — )
white eye y' w

y+

(2) O Drosophila with —> D
brown body and Cmw— (D
white eye y w

y+ m

(3) 0 Drosophila with —s CEIEEEEITTEE 1D
brown body and —

i m

N
(4) a Drosophila with — ﬂ
red eye and Pr—

white eye

miniature wing

l Paper Code [

2412

TTRI-1 BT el W11 9 BT 21 o e faaed] § 4 wel
D1 AT DI :

-1 -1
A. Aa x aa (i) 3:1
B. AaBb x AaBb (i) 1:1
C. Aa x Aa (iii)9:3:3:1
D. AaBb x aabb (iv)l1:1:1:1

(1) A-ii, B-iii, C-i, D-iv (2) A-iv, B-iii, C, D-ii
(3) A-iii, B—ii, C~i, D-iv (4) Aii, B-iii, C~iv, D~
SrAfher & g H T & e fd 1 faded o1 7a+ o

-1 F-11

(1) 91T TR TT DY > s
3irg areft 0 o E—
it y w

(2) WIRAA DT — WW_)

a“raﬁzrraﬁg o w— (D>
S Yy w
yt m
(3) WIR T Oe —» CENEEIIIE D
aitdl arern 07 —
SrATfthet

+

w* m

(4) a1 il den oy —> I D
u e §7 —

SrAfthet

Y% &1 B fory 57T/ Space For Rough Work
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In human, what is the ratio of number of gametes
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produced from one male primary sex cell to number
of gametes produced from one female primary sex
cell?

(1)1:3 2)1:4

3)3:1 “4)4:1

Mucous plug is formed in cervix during pregnancy
under the influence of hormone :

(2) Estradiol

(3) Luteinizing hormone (4) Relaxin

(1) Progesterone

Approximately, by the end of which month of
pregnancy do the limbs and eyelashes are formed
respectively :

(1) 1% trimester and 2"¢ trimester

(2) 2™ month and 24 weeks

(3) 8 weeks and 18 weeks

(4) 9™ month and 2" trimester

Read the following statements carefully. Identify

the true statements and choose the correct option.

a. The world population which was around 2 billion
in 1900 rocketed to about 4 billion by 2000 and
6 billion in 2011.

b. According to WHO, reproductive health means
a total well-being in all aspects of reproduction,
i.e., physical, emotional, behavioural and
social.

c. Anideal contraceptive should be user- friendly,
easily available, no or least side effects and
reversible.

d. Contraceptives interfere with the sexual drive,
desire of sexual act of user.

(1) Only a, band c (2) Only aand ¢

(3) Only b, cand d (4) Only band c

Class : XlI

58.

59.

60.

61.

2412

AT 4 Ud R Wfie afiie S1Rk1eT | 994 a1el Zra] 31
HET BT 3TUT HIGT &1 Geb TIATHeD <AfTeh DIfIehT 4 a1 aTed
D] B HIT B :

] Paper Code

(1)1:3 2)1:4

(3)3:1 @) 4:1

T B & UTa & IR THTEReIT & SR |fderd H =_gehsd @i
P fFEvT BT S :

(1) UoRERM (2) TS

(3) g gmE (4) Rafaas

TR & ST fohd FET @) 1T UR Sh el U1 9 aRIT=ry
Bl AT STar e :

(1) v fomre qen faeirg fommd

(2) fe<ira wEi der 24 Hwrs

(3) 8 AWITE AT 18 HITE

(4) irai 7E qen fg<da fame

frferRad wem @1 eagd e ue |

H DU D1 UgT AR FE| fdehed T :

a. fawa &) SIS 1900 # & r 2 faferam oft, 2000
TP TGhx o 4 fafera 3k 2011 H 6 @I 72 |

b, WHO & ¥R, ST+ TR B1 372 & — T+ b T TSl
3R AT TR T |

c. TP el T FRIgS ITITH & e, A A
YA, DTS Tel AT DHH GEMTE ATl AR SEHHURI B A |

d. T RIS SUINTRd! &) A 5ToT, A fhar ) szeT § a1
S |

(1) Ddcia, bl c

(3) daa b, c dATd

(2) dad a AT c
(4) DA b dAT ¢

Y% @1 P fory T8/ Space For Rough Work
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62. Terminal methods of contraception
(1) Lower sex hormone secretion and ejaculate
volume
(2) Involve tied up of oviducts blocking transport of
ova
(3) Lead to decreased libido and reduced
spermatogenesis
(4) Are called sterilisation procedures as tubectomy
results in increased fertility
63. Read the following statements.
a. Sterilisation procedure in males is called
'vasectomy'.

b. Chlamydiasis is a bacterial disease.

g

Hepatitis B is an incurable disease.

d. Family planning programmes in India were

initiated in 1951.

How many of the above statements are correct?

(1) One (2) Three

(3) Four (4) Two
64. Blood vessels dilate and become more permeable
in response to which material released from
damaged cells?
(1) Pyrogens
(3) Histamine

(2) Antibodies
(4) Interferons
65. What should be the strategy for the treatment of a
patient who has infected with a deadly antigen?

(1) Natural active immunisation

(2) Natural passive immunisation

(3) Artificial active immunisation

(4) Artificial passive immunisation

Class : Xl
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62. T FRIg® & cfiTa dRIS | ;
(1) S T g 3iR G wgem o AT Bl FH B ¢ |

(2) fEa % URTE 1 TG B & folQ 37 ATfRdT3i] DI qiegT
MAAL |
(3) PrEsT (A1) 3R YEPTUST H A 31T & |

(4) SegaHrvl Ufhar w81 Srar & J9ife Afae SweT &
ARUIMAREHY YoT-T e a1 H gfg e 2 |

faferRad wem ue |

a. TN H THEQ] D Ufhd1 B ‘YhaTed Sewa Hel Il © |

63.

b. R SATREE V& SIATI[SI T M 2 |
c. TUCTSfed B Ud agall a9 & |
d. 9RdH URaR RIS RImHH 1951 4 Y fhg T |

IR H 3 fora pUT T8 & ?
(1) v (2)
(3) IR @)=

64. EIfTIRa PIRIBISH B GIRT Hed D4 Uare Bl 3fha1 & BIRoT

AR arfef~ frerferd 81 Simeh & den a1fde uR= 81 S @ —

(1) YRR (2) ufcren

(3) fezer™i= (4) SeTURIA

I TR B SUAR B foT7 DI Tl 01T 87 ST Uep ©Tefeh
UFRrST & §TRT HehfHd 81?2

(1) Urepfcier HAfeh ufcRefTerror

(2) Urepfcien ffehy ufcelevor

(3) D Al ufcReNdHRol

(4) BfH Mftra gforefnror

65.
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Consider the following four statements (a—d)
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regarding organ transplant and select the correct

ones out of these:

a. B-lymphocytes and antibodies are responsible
for rejection of the graft

b. The cell mediated immune response is
responsible for rejection of the graft

c. Even if an organ transplant is proper the
recipient may need to take immuno-
supressants for a long time

d. Corneal graft has low success rate

(1) aand b (2) band c

(3) a,b,and c (4)a,b,cand d

Amensalism is an association between two species

where:

(1) one species is harmed and other is benefitted

(2) one species is harmed and other is unaffected

(3) one species is benefitted & other is unaffected

(4) both the species are harmed.

If 8 individuals in a laboratory population of 80 fruit

flies died during a specified time interval

(i.e.,week), the death rate in the population during

that period is

(1)1

(3)0.01

(2) 0.1
(4) 0.4

Class : XlI
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3T YRV ¥ HefAd 1 IR B2 (a ¥ d) U IR STH A T
DA BT YA DI

] Paper Code

a. USRI &l RATHR e & oy B-formarse g ufcrel
JREA BT 8

b. TR BT SRATHR BT H DIFADBT Feaqefiy gforer
SOAGILIE

c. I} T YARIIE! FE ) B, UTUS (UTEN) DI o FHI TD
URRETRIGHD v Bl JMILIDHT BTl &

d. DI IR &) A efd &) HH &

(1) aTaTb (2) baTc

(3) a, bTTC (4) a, b, cTard
gfasiifadr (Amensalism) &1 SIfal & w7y &1 U
eI B, T8 :

(1) Qb STFI 1 BT BT & T AR D1 A BIAT © |

(2) T I 1 BT B & AT G THTTI TEell 2 |

(3) T ST DI 14 BT B T S ST el 2 |

(4) =i SfrEt B e BN B |

U YT e H 80 Herd gl H & Y fafdre wwamafdy
#H (S o o iTE) 8 DI 9 81 Ol 2, 30 F9I1afd & SR
A P JY IR L :

(1)1
(3)0.01

(2) 0.1
(4) 0.4
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69. Mark the correct statement for below given & 69. %ﬁﬁwmmﬁﬂﬁgiﬁmﬂﬁiﬁ%ﬁﬁ%ﬂﬁ

70.

population age pyramid.

Post-reproductive
individuals

Reproductive
individuals

%
G

Pre-reproductive
individuals

(1) Such population is stable or mature population

(2) Growth rate is almost zero.

(3) Reproductive and pre-reproductive individuals
are exactly equal in number

(4) All of these.

In the given population growth curve A, B and K

represent which of the following :

/ A

K

Population density (N) —
w

Time (t) >
(1) A represent logistic growth, B represent
exponential growth and K is carrying capacity.
(2) A represent exponential growth, B represent
logistic growth and K is carrying capacity.
(3) A is carrying capacity, B represent logistic
growth and K represent exponential growth.
(4) A represent exponential growth, B is carrying

capacity and K represent logistic growth.

70.

/W/,fd
S

(1) U= SrvrieeT RerR a1 uRudd S € |

(2) IfE RATT LT |
(3) VST S11R Yd U1+ dTel efod el H YahaH SH & |

(@) TFNTEE |
178 SEE gfg ah A A, B 91 K =1 9 9 frdant uefia

PIAL :
A
2| x

: 5
¢

qHY (t) >
(1) A ¥R gfg DI, B IRETAID gfeg D AT K T8 &A1 Dl

(2) A IRATAS gfg D1, B TR gfg 1 G K a8+ & d] Bl

(3) A T&1 &7 DI, B TR gfeg HIci K aRE S gieg Pl

(4) A TRETS g P, B T8 &9 I dell K TR gfg a1

Y% &1 B [y 5178/ Space For Rough Work

24

F
“HTIE’’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A\-

y.




71.

72.
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74.

75.
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According to Robert Costanza, the average price
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tag of fundamental ecosystem services per year is

(1) $ 33 billion (2) $ 18 trillion

(3) $ 33 trillion (4) $ 53 billion

Ecosystem characteristic that changes during

succession is :

(1) Change in diversity of species

(2) Total biomass decreases

(3) High degree of diversity to little diversity

(4) Decrease in humus content of soil

Which one of the following is not observed in

biodiversity hotspots ?

(1) Species richness

(2) Endemism

(3) Accelerated species loss

(4) Lesser inter-specific competition

Find the wrongly matched pair :

(1) Endemism - Species confined to one region &
not found anywhere else

(2) Niche - Best suitable area for species

(3) Alien species - Clarias gariepinus to India

(4) Lungs of the planet - Tundra alpine biome

India has only 2.4% of world's land area but it

contribute the part of global diversity :

(1) 5% (2) 20%

(3) 1.5% (4) 8.1%

Class : XlI
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72.

73.

74.

75.
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RI9E SRS S MFAR, UfT I8 Fera wiRca Farsii &1 i aa
AT~

] Paper Code

(1) $ 33 faferga (2) $ 18 fefera=
(3) $ 33 fefora= (4) $ 53 fafera=
3T & SR I8 YR STfieieror fori aRac e g, & —

(1) wromferdi ot fafagar 3 uRad= grar g

(2) T IR F B A 2

(3) fafaercr arfer A P B I 8

(4) &1 H S @) A €S I §

fefeRad 9 & w Sia fafdean & gic Wi | uferd 8 favan

ST ?

(1) S |HgiE

(2) Zerferepan

(3) @Ra ST afa

(4) P =R fruef

Tt GHferd g a1 g

(1) RenfRedT - TSTIRY darel Ueb & b A 2 e Bl 3fR 718!
ORI ST |

(2) v - STferdl &g watfe Suged I

(3) facerst STferi - IRA | FRIw IRTIgTT

(4) T D BHS - CUgl TeuTeH SiidIH

9Re 9 fared 1 2.4% eiel & U= s faeg ig fafaerd &1 fae

PINNNESCRIRE

(1) 5%

(3) 1.5%

(2) 20%
(4) 8.1%
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76. If f be a real valued function such that | 76. ?Ilﬁ’?:l‘?ﬂx, y > ozﬁf%—mfwemﬁﬁ'cﬁmwwwéﬁ?
f(x) f(x)
f(xy) = 7,\7 %,¥ >0 and f(30) = 20. Then value of f(xy) = v 23R f(30) = 20 BT f(40) HTAE —
f(40) is :
(1) 20 (2) 30 (1) 20 (2) 30
(3) 15 (4) 10 (3) 15 (4) 10
77. Let R be a relation on set of real numbers given by = 77. IR aR<ifdd sl H§ uRHINd g =g
R = {(a,b) :3a — 3b ++/7 is an irrational number} . R= {(a,b) :3a — 3b + /7 U JAURHY Ty %}
Then R is : ez aeRE —
(1) Reflexive but neither symmetric nor transitive (1) ¥aded oifh= 71 € FHfa IR T 81 HAehTHD
(2) Reflexive and transitive but not symmetric (2) Taded IR FpTHD <ifdh= FHfHd 8T |
(3) Reflexive and symmetric but not transitive (3) Ty IR AT Ifp=T HehTHS T2 |
(4) An equivalence relation (4) U JoUdT ¥ e
2x-1 2x-1
78. Domain of y = |-log,. 4 [logz 3+x J is : 78. y=|-logxi4 [log2 3+x J BIUT & —
2 2
(1) (-4, -3)u(4, =) (2) (o0, =3)u(4, =) (1) (-4, -3)u(4, =) (2) (=00, =3)U(4, =)
(3) (o0, =4)(3, x) (4) 4, -3)u(3, 4) (3) (o0, =4)(3, x) (4) 4, -3)u(3, 4)
79. sin |:COt_1 {cos (tan’lx)ﬂ , is equal to : 79. sin |:COt_1 {cos (tan’lx)ﬂ , BITAMRIER S :
x?+1 x?+2 x2+1 x2+2
(1) X2 +2 (2) X2 +1 (1) X2 +2 (2) X2 +1
X+2 x* -1 X +2 x2 -1
(3) XQ + 1 (4) XQ + 2 (3) XQ + 1 (4) XQ + 2
¥% @13 @ fory 5r71g / Space For Rough Work
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The number of real solutions of
80.

tan!, I{x(x + 1)} +sin™ [{x2 +x+ 1} = g is :

(1) zero (2) one
(3) two (4) infinite
If the mapping f(x)= ax + b, a > O maps from [-1, 1] | 81.
to [0, 2] is onto function, then
cot[cot’17 + cot '8 + cot™! 18] is equal to :
(1) f-1) (2) f(0)
(3) f(1) (4) f(2)
The equation's 82.
x+2y+3z=1
2x+y+3z=2
Sx+ 5y +9z=4
(1) There is only one solution
(2) There exists infinitely many solution
(3) There is no solution
(4) None
1 X x+1
If flx)=| 2x x(x-1) X(x+1)|, 83.

3x(x-1) x(x-1)(x-2) x(x?-1)
then f(200) is :
(1)1
(3) 200

(2) 0
(4) -200

Paper Code
2412

FHIDHRT tan [{x(x + 1)} +sin™! [{X2 +X+ 1} = g g

Jrafdd gl &) AT 8§
(1) =T (2) T®
(3) a1 (4) 3=

Ifg Ber f(x)= ax + b, a > 0, [-1, 1] | [0, 2] H TWIEH
el & T4 cot[cot 7 + cot™'8 + cot 1 18] HTAF IR &

(1) f=1)

(3) f(1)

TR (hTg
x+2y+3z=1
2x+y+3z=2
Sx+3y+9z=4

(1) HIA TP & B

(2) e ® a g @
(3) PIEEATE &
(4) DI &

(2) £0)
(4) £(2)

1 X x+1
2x x(x-1) X(x+1)|,

3x(x-1) x(x-1)(x-2) X(X2 -1)

afe f(x) =

T4 (200) &
(1)1
(3) 200

(2) 0
(4) -200
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1 1 1 1 bc a
If Ay=|la b c|,Ay=|1l ac b|, then
a2 p2 2 1 ab ¢
(H)A,+A,=0 (2)A; +2A,=0
(B)A, =4, (4) Ay = 24,
If a, B, y are real number's then
1 cos(B—a) cos(y-a)
A =|cos(a —B) 1 cos(y —B)
cos(oo—7y) cos(B-7v) 1

is always equal to :
(1) -1
(3) cosa + cosP + cosy

(2) cosa cosP cosy
(4) None of these

2
If the function f(x):{kl(x_n) -L oxs<m is

k, cosx, X>T7

twice differentiable, then the ordered pair (k;, k,)

Class : Xl
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1 1 1 1 bc a
84. X Aj=|la b cl|,Ay=|l ac b|,Td
a? b2 2 1 ab c
()A,+A,=0 (2)A; +2A,=0
(B) A =4, (4) A =24,
. AR o, B, y aIfa® FEQ © A9
1 cos(B—a) cos(y-a)
A =|cos(a —B) 1 cos(y —B)
cos(o—7y) cos(B-7v) 1
EENIENENS

(1) -1
(3) cosa + cosP + cosy

(2) cosa cosP cosy

(4) IS A

. R e f(x):{kl(x_n)g_l’ XS o e

k, cosx, X>T

8, 7@ i g (k,, k) IRTER &

is equal to:
1 (1) (1,0) ) (l’lj
(1) (1,0) (2) (g’lj ’ 2
! @) (11 ) (Llj
@) (1,1 ) (5,-@ ’ 2
Y% &1 B fory 57T/ Space For Rough Work
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Consider function f(x)={* 1 *=0 d 87

onsider function 0. otherwise an .
g(x) = |x|, then which one of the following is
correct?
(1) f(g(x)) is discontinous at x =0
(2) f(g(x)) is non-differentiable at x = 1
(3) g(f(x)) is discontinous at x = 1
(4) g(f(x)) is non-differentiable at x = {0,1}

(cos X)a/x2 if%t <x<0
b 3 —

If function € ifx=0 88.

(secx+tanx)2/X if0<X<£

is continous at x = 0, then the number of divisors
of N=3lal 5Plis:
(1) 15
(3) 25

(2) 20
(4) 10

x? +1 ,x<0

5 and
(x-1) +2b , x>0

Let f(x)={

X +2a
8lx)= {I x-2|
. If fog(x)
differentiable at x =
8(b-a).

(1) 10
(3) 20

,ifx <0
ifx>0 (wherea € R"and b € R)

is continuous for all real x and
0, then find the value of

(2) 15
(4) None

89.

2412

] Paper Code

g glx) = x| R faaR
0, gl

IR, Ta T H Pl ae 27

2

(1) flg(x)) , x =0 R IIFAATL |

() flg(x)) , x = 1 R T-IAHATE |
(3) g(f(x)) , x= 1 RIFAGL |

@) g(f(x)) , x = {0,1} RIT—-INTDHI L |

(cos X)a/x2

if_—Tt <x<O0
4
If Hem e’ ifx=0
(secx +tanX)2/X

x=0WRIadeadN = 32l 5!P1 & qrore o G g

if0<x<E
4

(1) 15 (2) 20
3) 25 (4) 10
x? +1 ,x<0
A f(x) = 5 qe
{(x—l) +2b ,x20
x+2a ,¥Rx<0
g(x)= x_2| . afRxso (HacRwIbeR) IR

fog(x), x @ I IRAIS AFI & fIg FAq 2 T x = 0 W
JAHATT 8,1 8(b — a) BT HIF BT —

(1) 10
(3) 20

2) 15
(4) BrE TE
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1 -sinnx

_ X <
1+ cos2nx’

1
2
1

Let f(x) = p X=—

2
V2x -1 x>l
Ja4+\2x-1-2

. Determine the

value of p, if possible, so that the function is
continuous at x=1/2.

(1)1 (2) 2

(3) 3 (4) Not defined

If the line passing through the points (-1, 10) and

2
(0, 6) is tangent to the curve y = C—l,
X

then the
value of ¢? is equal to

1 1
M3 @

1
@ 5 40
If f(1)=3 and f'(x)<1.4for 1 <x<8. Thelargest
possible value which f (8) can have, is

(1)12.8 (2)6.8
(3)16.8 (4) None
If the largest positive value of the function

f®= Jsx—x* —14x-x’ —48 is +k where

k € N, then find the value of k.

Class : Xl
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2412
| 1-sinnx 1
TSI <o
1+ cos2nx 2
A f(x) = P x=% If e x= 1/2
V2x -1 x>l
_\/4+\/2x——1—2’ 2
TR A 2, IS §a 81 Al p &1 A9 BT
()1 (2)2
(3) 3 (4) JuRHTa
afg fagafl (-1, 10) T2 (0, 6) | IO dTell N&@T P

2
y=-C_ et @ R, o 2 @A R

x-1
1 1
g @ 5
1
@ 5 40

I f(1)=30F 1<x<8 & for f' (x)<1.48 O a4
ST F9a 749 St % £ (8) BT & AhaT 8, BRI

(1)12.8 (2)6.8

(3) 16.8 (4) DTS LT
ARBATL (x) = \gx — %2 —V14x — x° — 48 PIARHTA
TS A1 Kk B, STel k € N B, dl'k T | ST D] |

(1) 12 (2) 10 (1) 12 (2) 10
(3)8 4) 16 (3)8 4) 16
¥% @13 @ fory 5r71g / Space For Rough Work
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94. Let f(x)=75* Jlt-x)sintdt gor x (o, ). 1f M | 94. HFT xe[0,n] & R f(x)= 5t [(t-x) sint dt ¢
0 0
and m are the maximum and minimum values & IRIA [0, 7] # £ (x) B AMABAH T RIATH AT HAT:
of f (x) respectively in [0, n], then (M — m) equals M@ m &, (M —m) &T A &
)= 2> @3 4 1= 2> @3 4
(5 @, @ @5 (05 @, @ @5
95. Given a=xi+yj+2k, b=i-j+k, 95. femmefPa=xi+yj+2k, b=1i-]j+Kk,
6:1+2];(5A5) =n/2,a-C =4 then E=i+23;(§Ag) =n/2,a-C=4 gl
(1) [Ebel*=|a| () [Ebc)”=|a|
(2) [@be]=|al (2) [@abe]=al
@) [abc =0 B)[abc] =0
@ [@Ebec =|al? 4 @bl =|al®
96. Let V,=3ax*-2(x-1)j and V, =b(x-1)i+x2], 96. &M V, = 3ax’i - 2(x —1)j T V, = b(x - 1)i + x°>] &
where ab < 0. The vector V, and V, are linearly Tefab<03? RT%?TVI e VQ%@HW%—
dependent for
(1) atleast one x in (0, 1) (1) IR (0, 1) H FH W HH YD x B oy
(2) atleast one x in (- 1, 0) (2) 3T=IRTA (—1, 0) H HH A HH YD x B foTg
(3) atleast one x in (1, 2) (3) ST=TRTA (1, 2) H HH H HH Yh x B folg
(4) no value of x. (4) DIE x BTAE T

Y% &1 B [y 51718/ Space For Rough Work
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97. Let S(t) be the area of the AOAB with O (0, 0, 0), A | 97. #MIS(t), AOAB B &F®ha g, 58l O (0, 0, 0), A (2, 2, 1)

98.

99.

100.

(2,2, 1)and B (t, 1, t + 1).

The value of the definite integral I(S(t))Q In t dt, is
1

e’ +a
equal to N where a, b € N, find (a + b).
(1)3 2)5
3)7 (29

The image of the point P(2,1,-4) in the plane
x+2y-3z+2=0is:

4 29 26
(1) (0,-1,9) (2) (‘7"7’7j

5 11 19
(3) (3,-5,2) (4) (_ﬁ’ﬁ’ﬁj

The plane px + qy + rz = t, meets the coordinate
axes at the points, P, Q and R respectively. Then
the area of APQR is equal to:

typ? +q° +1? t*\p® +q* +1?

(1) 2par (2) 2par
a) typ? +q° +1? @ t*\p® +q* +1?
par par

The plane P, : x -2y + 3z = 0 is rotated through a
right angle about its line of intersection with the
plane P, : 2x + 3y — 4z -5 = 0. The equation of plane
P, in its new position is:
(1) x+ 3y-5z=17
(B)3x+4y—-11z=12

(2) 11x+3y-z=10
(4) 22x + S5y -4z =35

98.

99.

100.

TNB (t, 1, t+ 1) ¥ | AReaq amer | (SO) 1n t dtwram

[e ;aJ 21978 a, b e N34l (a + b) AR

(1)3 (2) 5
(3)7 (2)9
|HAA x + 2y -3z + 2 = 0 H{Ig P(2,1,-4) &1 Ui grm:

4 29 26
(1) (0,-1,9) (2) (‘7"7’7j

5 11 19
(3) (3,-5,2) (4) (_ﬁ’ﬁ’ﬁj

FAAE px + qy + 1z = t, FSw® seli e fdg P, QaR
R AT | T APQR &1 & 5%h el aR16R BIRT:

typ? +q° +1? t*\p® +q* +1?

(1) 2par (2) 2par
a) typ? +q° +1? @ t*\p® +q* +1?
par par

HHTA P, : x —2y + 3z = 0 Bl FHIA

P, : 2x + 3y -4z -5 = 0 & {12 50 Ufcresfa Y@ & uRa:
HHD 01 GHTIT ST &, T 71 SFael] § T P, BT FHIDROT
i

(1) x+ 3y-5z=17
(3) 3x+ 4y — 11z = 12

(2) 11x+3y-z=10
(4) 22x + S5y -4z =35

Y BT P o1 T8/ Space For Rough Work
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CASH AWARDS 22400 ufafiral & fic gffgd [EaR...

& SCHOLARSHIPS 31@RA & Zonal Cash Prizes & fde CLC & yawI &t ifAarfar 71 8 safe
1.21 65 & Mega Cash Prizes 31R 31 6315 @t Scholarships & fe€ CLC Classroom Courses B W2l &1 31fAart 21

Zonal Cash Award & Special Reward*

ZRL Each Class

1 Cash Prize of 3000 + Memento + Certificate + Student Kit

2to3 Cash Prize of 2000 + Memento + Certificate + Student Kit

4tol0 Cash Prize of 1000 + Memento + Certificate + Student Kit B
11to 50 Memento + Certificate + Student Kit ;é
51t0100 Memento + Certificate E

‘RL

Rest Participants : Certificate

*Cash awards will be given after tax deduction as per Govt. Norms.
Your Zonal Rank will be mentioned in the marksheet along with your Common Rank List

1. Date & Venue for Zonal Tecno'24 Fest will be announced at the time of result declaration
2. CLC Reserves the Right for extension of Exam Zone.

Mega Cash Awards*

Class 7 Class 8 Class 9 Class 10 Class 1l Class 12

CRL Class 5 Class 6
1 75000 75000 75000 100000 100000 200000 75000 75000
2to5 35000 35000 35000 50000 50000 100000 35000 35000

6tol0 20000 20000 20000 35000 35000 50000 20000 20000
11to 20 10000 10000 10000 20000 20000 35000 10000 10000

21 to 100 5000 5000 5000 10000 10000 20000 5000 5000
101to0 150 3000 3000 3000 5000 5000 10000 3000 3000
151 to 200 NA NA NA 3000 3000 5000 NA NA
201 to 250 NA NA NA NA NA 3000 NA NA

*Cash awards will be given after tax deduction as per Govt. Norms. CRL = Common Rank List

Why Tecno... Why CLC ?

22400 31 <:l.21 ?31

ZONAL
REWARDS CRORE CRORE

PREMIUM TUITION FEE MEGA CASH ZONAL CASH
PRIVILEGES SCHOLARSHIP PRIZES PRIZES




forefr - HEPR - JR&IT - ABerdl
SIKAR - JAIPUR . ALWAR

KOTA « BIKANER ¢« JODHPUR ¢« HISAR « DELHI

CLC NDA ACADEMY
Sikar
NDA | NAVY | AIRFORCE

CLC
INTERNATIONAL SCHOOL
Pre-Primary to Xli

KVM SCHOOL
Sikar & Alwar
Vlto Xl

NEET . JEE

OLYMPIADS - NDA - SCHOOLS

Sikar (H.0.) : &Here, Pandit Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan)
Ph.: 01572-255500, 258500, 94140-36555, 94140-37884
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